
INSTALLATION INSTRUCTIONS
HOOD PROTECTOR

Stampede Products, Inc.  •  1924 S. Washington, Blvd.  •  Camanche,  IA.  52730  •  Ph 563-259-9189  Fax 563-259-9288  •  www stampedeproducts.com

Stampede Products, Inc.  •  1924 S. Washington, Blvd.  •  Camanche,  IA.  52730  •  Ph 563-259-9189  Fax 563-259-9288  •  www stampedeproducts.com

Stampede Products, Inc.  •  1924 S. Washington, Blvd.  •  Camanche,  IA.  52730  •  Ph 563-259-9189  Fax 563-259-9288  •  www stampedeproducts.com

LIFT THE HOOD AND REMOVE ANY DIRT OR DEBRIS.

REMOVE THE 6 NUTS FROM THE GRILL STUDS AND THE 6 SCREWS THAT ATTACH THE GRILL SUPPORT FRAME TO THE HOOD USING A 5/16” NUT 
DRIVER

CAREFULLY LOWER THE HOOD AND SEPARATE THE GRILL FROM THE HOOD JUST ENOUGH SO THAT THE HOOD PROTECTOR WILL SLIDE BETWEEN 
THE GRILL AND THE HOOD.

WHEN THE HOOD PROTECTOR IS IN PLACE, CAREFULLY RAISE THE HOOD AND REINSTALL THE NUTS ON THE STUDS AND TIGHTEN. (DO NOT OVER 
TIGHTEN!) THEN REINSTALL THE SCREWS INTO THE GRILL SUPPORT FRAME.

LOWER AND LATCH THE HOOD AND CHECK TO MAKE SURE THE HOOD PROTECTOR IS FIRMLY IN PLACE AND CENTERED.

TOOLS NEEDED:
5/16” Nut Driver

TOOLS NEEDED:
5/16” Nut Driver

TOOLS NEEDED:
5/16” Nut Driver

CLEANING YOUR HOOD PROTECTOR:  USE ONLY WARM SOAPY WATER AND A SOFT CLOTH. NEVER USE
PAPER TOWELS, PETROLEUM PRODUCTS, OR SOLVENTS TO CLEAN YOUR HOOD PROTECTOR!

CLEANING YOUR HOOD PROTECTOR:  USE ONLY WARM SOAPY WATER AND A SOFT CLOTH. NEVER USE
PAPER TOWELS, PETROLEUM PRODUCTS, OR SOLVENTS TO CLEAN YOUR HOOD PROTECTOR!

CLEANING YOUR HOOD PROTECTOR:  USE ONLY WARM SOAPY WATER AND A SOFT CLOTH. NEVER USE
PAPER TOWELS, PETROLEUM PRODUCTS, OR SOLVENTS TO CLEAN YOUR HOOD PROTECTOR!

1

2

3

4

5

#29

INSTALLATION INSTRUCTIONS
HOOD PROTECTOR

LIFT THE HOOD AND REMOVE ANY DIRT OR DEBRIS.

REMOVE THE 6 NUTS FROM THE GRILL STUDS AND THE 6 SCREWS THAT ATTACH THE GRILL SUPPORT FRAME TO THE HOOD USING A 5/16” NUT 
DRIVER

CAREFULLY LOWER THE HOOD AND SEPARATE THE GRILL FROM THE HOOD JUST ENOUGH SO THAT THE HOOD PROTECTOR WILL SLIDE BETWEEN 
THE GRILL AND THE HOOD.

WHEN THE HOOD PROTECTOR IS IN PLACE, CAREFULLY RAISE THE HOOD AND REINSTALL THE NUTS ON THE STUDS AND TIGHTEN. (DO NOT OVER 
TIGHTEN!) THEN REINSTALL THE SCREWS INTO THE GRILL SUPPORT FRAME.

LOWER AND LATCH THE HOOD AND CHECK TO MAKE SURE THE HOOD PROTECTOR IS FIRMLY IN PLACE AND CENTERED.

1

2

3

4

5

#29

INSTALLATION INSTRUCTIONS
HOOD PROTECTOR

LIFT THE HOOD AND REMOVE ANY DIRT OR DEBRIS.

REMOVE THE 6 NUTS FROM THE GRILL STUDS AND THE 6 SCREWS THAT ATTACH THE GRILL SUPPORT FRAME TO THE HOOD USING A 5/16” NUT 
DRIVER

CAREFULLY LOWER THE HOOD AND SEPARATE THE GRILL FROM THE HOOD JUST ENOUGH SO THAT THE HOOD PROTECTOR WILL SLIDE BETWEEN 
THE GRILL AND THE HOOD.

WHEN THE HOOD PROTECTOR IS IN PLACE, CAREFULLY RAISE THE HOOD AND REINSTALL THE NUTS ON THE STUDS AND TIGHTEN. (DO NOT OVER 
TIGHTEN!) THEN REINSTALL THE SCREWS INTO THE GRILL SUPPORT FRAME.

LOWER AND LATCH THE HOOD AND CHECK TO MAKE SURE THE HOOD PROTECTOR IS FIRMLY IN PLACE AND CENTERED.

1

2

3

4

5

#29


